

RACE 1	Volt 2140 RANK
Only ranking.	A: 4-9-10
	B: 1-8-3-2
	C: 6-5-7-11

Top 4 : **4 - 9 - 10 - 1**

Quinella:	Trifecta:	
Horses: 4, 9, 10	1: 4, 9, 10	
U-Horses:	2: 1, 4, 8, 9, 10	
Total: 3 x 10 = 30	3: 1, 2, 3, 4, 8, 9, 10	
	Total: 60 x 2 = 120	

RACE 2	Volt 2140	RANK
Only ranking.		A: 3
		B: 5-2-4-1
		С:
		Top 4 : 3 - 5 - 2 - 4
Quinella:	Trifecta:	

Horses: 2, 5 U-Horses: 3 **Total: 2 x 30 = 60** **Trifecta:** 1: 3 2: 1, 2, 4, 5 3: 1, 2, 4, 5 **Total: 12 x 2 = 24**



RACE 3	Volt 2140 RANK
Only ranking.	A: 3-11-5
	B: 8-7-9-2-10-1-4-6-12
	C:

Top 4 : **3 - 11 - 5 - 8**

Quinella:	Trifecta:
Horses: 3, 5, 11	1: 3, 5, 11
U-Horses:	2: 3, 5, 8, 9, 11
Total: 3 x 10 = 30	3: 1, 2, 3, 5, 7, 8, 9, 10, 11
	Total: 84 x 2 = 168

Mantorp

Monday, May 06



RACE 4

V64-1

Auto **1640**

3 Lozano Di Quattro has been matched nicely in this year's starts. The opposition has not been the toughest and that is not the case this time either. He is in a class of his own and could make it to Elitloppet at the end of this month. Perfect task here and top chance again! **6 Sorbet** is thirteen years old (!) but still delivers at the highest level which impresses. **5 Hidalgo Heldia** likes these conditions and opens really fast. **1 Mr Mah Can** got locked in with energy saved last time and gets a nice trip here.

			-		
Тор	4:	3-	6-	5-	

RANK

A: 3

B: 6-5-1

C: **7-2**

Quinella:	Trifecta:	
Horses: 5, 6	1: 3	
U-Horses: 3	2: 1, 5, 6	
Total: 2 x 50 = 100	3: 1, 5, 6	
	Total: 6 x 2 = 12	

RACE 5	V64-2	Volt 2140	RANK	
•	ood skills in the debut vict and then finished fast sho	, ,	A: 5	
4 Global Evergreen spr	inted well as third with er	nergy left last time.	B: 4-11-10-6-9-1-7	
victory with the right tri	ter is getting better and b p. 11 Hermine Ima raced b	arefoot for the first	C: 12-8-3-2	
time last time, which ha by the trainer here and	d a big effect. 10 Inga Kor will compete barefoot.	istigheter is driven		

Quinella: Horses: 4, 6, 10, 11 U-Horses: 5 **Total: 4 x 10 = 40** Trifecta: 1: 4, 5, 6, 10, 11 2: 4, 5, 6, 10, 11 3: 4, 5, 6, 10, 11 Total: 60 x 2 = 120 Top 4 : 5 - 4 - 11 - 10

Mantorp

Monday, May 06



RACE 6

V64-3

Auto 2640

9 Luca Vialli Boko is very strong and loves the long distance over which he has taken seven of his ten career victories. Two runs under his belt and the Ulf Stenströmer stable is in great shape. Björn Goop jumps for the first time is hardly a disadvantage either. **6 Rio Alta Wine** has been improved and impressed second last. **1 Byron Face** owns good strength and can open fast. Galloped on the way to a good result second last. **4 All In Face** was good against tough opponents last time.

RANK	
A: 9-6-1	
B: 4-3-7-10-2-5	
C: 8	

Top 4 : 9 - 6 - 1 - 4

Quinella: Horses: 1, 6 U-Horses: 9 **Total: 2 x 50 = 100** **Trifecta:** 1: 1, 6, 9 2: 1, 3, 4, 6, 9 3: 1, 3, 4, 6, 7, 9, 10 **Total: 60 x 2 = 120**

RACE 7	V64-4	Auto 1640	RANK	
•	d nicely behind Esteban Ba	•	A: 4	
•	e horse second last despite is in top form for the day and	• •	B: 2-6-3-8-1-10	
	ker. 2 Nemo Di Quattro car erican bike for the second t	•	C: 5-12-11-9-7	
	e attempt. 6 Netzer Boko was for this class. 3 Execute M or a podium place.			

Top 4 : 4 - 2 - 6 - 3

Quinella: Horses: 2, 4 U-Horses: **Total: 1 x 40 = 40**

Trifecta:

1: 4 2: 2, 6 3: 1, 2, 3, 5, 6, 7, 8, 9, 10, 11, 12 **Total: 20 x 2 = 40**



RACE 8

V64-5

Auto **2140**

2 Global Eyecatcher sprinted fast when she found room late in the seasonal debut last time. She owns high capacity, has a run under his belt and will probably be driven with an American bike for the first time in her career. **11 Can Can Broline** put in the best performance of her life last time. She was outstanding and looked really nice over the finish line. **9 Tropic Thunder** scored a strong victory last time and has shown good form at the end. **6 Fiona** met tough opponents last time. Is speedy and can open fast.

RANK
A: 2-11
B: 9-6-4-10-7-1-5-12
C: 8-3

Top 4 : 2 - 11 - 9 - 6

Quinella: Horses: 2, 11 U-Horses: **Total: 1 x 100 = 100** **Trifecta:** 1: 2, 11 2: 2, 4, 6, 9, 11 3: 1, 2, 4, 5, 6, 7, 9, 10, 11 **Total: 56 x 2 = 112**

RACE 9	V64-6	Auto 2140	RANK	
5 L.Way Joli has four	nd great form and impresse	d a last time when	A: 5	
he ran 1.14.2 over the	long distance. He can open	n fast from the start		
and must be seen wit	h a good chance for the th	ird straight victory.	B: 3-4-2-10-1-7-6	
3 Nyra's Lars R looked	l to be heading towards victo	ory last time but got		
defeated shortly befor	e the finish line. Tight starts	s now and should be	C: 11-12-8-9	
on the way up. 4 Cred	ityuan is a quick starter and	is undefeated after		
three runs in the lead.	2 Roger More got locked in	n with energy left in		
a top time in the last r	un.			

Top 4 : 5 - 3 - 4 - 2

Quinella: Horses: 2, 3, 4, 5 U-Horses: **Total: 6 x 10 = 60**

Trifecta:

1: 5 2: 1, 2, 3, 4, 6, 7, 8, 9, 10, 11, 12 3: 1, 2, 3, 4, 6, 7, 8, 9, 10, 11, 12 **Total: 110 x 2 = 220**



RACE 10	V3-3	Auto 2140	RANK
Only ranking.			A: 3-8
			B: 9-11-10-12-7-1
			C: 4-2-5-6
			C. 4-2-J-U

Top 4 : **3 - 8 - 9 - 11**

Quinella:	Trifecta:
Horses: 3, 8	1: 3,8
U-Horses:	2: 3, 8, 9, 11
Total: 1 x 10 = 10	3: 3, 7, 8, 9, 10, 11, 12
	Total: 30 x 2 = 60